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QUESTION 1

Which command displays the configuration register setting? 

A. show flash 

B. show running-config 

C. show version 

D. show config-register 

Correct Answer: C 

 

QUESTION 2

The pins on an RJ-45 cable plug are numbered from 1 through 8. When the metal pins of the plug are facing toward
you, pin 1 is the leftmost pin. Which two sets of pins are looped on an RJ-45 56K loopback plug? (Choose two.) 

A. pins 2 and 7 

B. pins 2 and 8 

C. pins 2 and 5 

D. pins 1 and 7 

E. pins 1 and 4 

Correct Answer: CE 

 

QUESTION 3

Which two pairs of LAN Ethernet devices use an RJ-45 straight-through cable? (Choose two.) 

A. switch-to-switch 

B. switch-to-router 

C. switch-to-hub 

D. router-to-router 

E. switch-to-server 

Correct Answer: BE 

 

QUESTION 4

100-490 Study Guide | 100-490 Exam Questions | 100-490 Braindumps                                2 / 3

https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html
https://www.geekcert.com/100-490.html


https://www.geekcert.com/100-490.html
2024 Latest geekcert 100-490 PDF and VCE dumps Download

When you deploy Cisco Catalyst 3850 Series switches, which two modes of operation can you choose from? 

A. Active mode and Standby mode 

B. Install mode and Bundle mode 

C. Boot mode and Run mode 

D. Exec mode and User mode 

Correct Answer: B 

 

QUESTION 5

Which two IPv4 addresses can be assigned to a host computer? (Choose two.) 

A. 255.255.255.255 

B. 10.1.1.20 

C. 0.0.0.0 

D. 192.168.10.15 

E. 292.10.3.4 

Correct Answer: BD 
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